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 LSE-13  

BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

December, 2022 
 

LIFE SCIENCE 

LSE-13 : PLANT DIVERSITY-II 

Time : 3 hours Maximum Marks : 75 

Note :  Question no. 1 is compulsory. Attempt any  

five questions from Questions no. 2 to 8. Draw 

well-labelled diagrams wherever necessary. 

1. (a) Give the botanical name of the following 

plants : 51=5 

(i) Gymnosperm possessing large 

reticulately veined leaves.  

(ii) That which yields an edible oil and 

coarse fibres used in manufacture of 

cordage.  

(iii) The bark of which is used as a spice.  

(iv) That which belongs to Solanaceae 

family and is a source of starch. 

(v) That which possesses cyathium 

inflorescence. 
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(b) Define the following :  51=5 

(i) Apomixis  

(ii) Verticillaster inflorescence  

(iii) Manoxylic wood  

(iv) Curing of tobacco leaves  

(v) Refining of oil  

(c) Match the items given in Column A with 

those given in Column B :  51=5 

 Column A  Column B 

(i) Pneumatophore (a) Asteraceae   

(ii) Gingerin  (b) Caricaceae   

(iii) Capitulum  (c) Root  

(iv) Papaya (d) Cinchona 

(v) Quinine  (e) Stem 

2. Draw well-labelled diagrams of any three of the 

following : 34=12 

(a) T.S. of coralloid root of Cycas 

(b) T.S. of tetrasporangiate anther  

(c) L.S. of wheat grain 

(d) T.S. of ovary of Cucurbita  

(e) L.S. of bud of Clove  
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3. Write short notes on any three of the  

following : 34=12 

(a) Botany and uses of Coriandrum Sativum  

(b) Functions of epidermal tissue   

(c) Diagnostic features of family Apiaceae  

(d) Male strobilus and male gametophyte of 

Ephedra   

(e) Importance of vegetable oils 

4. Differentiate between any three of the  

following : 34=12 

(a) Floral characteristics of coffee plant and pea 

plant  

(b) Dwarf shoots and Long shoots of  Pinus   

(c) Xylem and Phloem of angiosperms  

(d) Fibre of cotton and Fibre of jute   

(e) Fruit of citrus and Fruit of apple   

5. (a) Describe in detail the diagnostic features of 

gymnosperms.  5 

(b) ‘‘Stems of many plants are modified to 

perform special functions.’’ Comment. 7 
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6. (a) Write the scientific name, family and parts 

used of any two vegetables. 32=6 

(b) Write a brief note on processing of wood to 

make paper. 6 

7. (a) What are carnivorous plants ? Describe any 

two carnivorous plants.   1+5=6  

(b) Give the scientific name, family and name of 

the alkaloid of any two medicinal plants. 32=6 

8. (a) Discuss the economic importance of wheat 

and the various methods adopted for its 

improvement. 4+2=6 

(b) Elaborate on the processing of coffee berries 

to obtain coffee powder for commerce. What 

is decaffinated coffee and how is it  

obtained ? 4+1+1=6 
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 Eb.Eg.B©.-13  

 {dkmZ ñZmVH$ (~r.Eg gr.) 

gÌm§V narjm 

{Xgå~a,  2022 

 
Ord {dkmZ 

Eb.Eg.B©.-13 : nmXn {d{dYVm-II 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 75 

ZmoQ> : àíZ g§. 1 A{Zdm`© h¡ & àíZ g§. 2 go 8 _| go {H$Ýht  
nm±M àíZm| Ho$ CÎma Xr{OE & Ohm± Amdí`H$ hmo, gwZm_m§{H$V 
{MÌ ~ZmBE &   

 

1. (H$) {ZåZ{b{IV nmXnm| Ho$ dmZñn{VH$ Zm_ {b{IE : 51=5 

(i) EH$ {OåZmoñn_© {Og_| ~‹S>r Om{bH$mê$n 
{eamAm| dmbr n{Îm`m± hmoVr h¢ &  

(ii) {Oggo EH$ ImÚ Vob Am¡a _moQ>o/ñWyb aoeo àmßV 
hmoVo h¢, {OZH$m Cn`moJ añgr ~ZmZo _| {H$`m 
OmVm h¡ &  

(iii) {OgH$s N>mb H$m à`moJ _gmbo Ho$ ê$n _| {H$`m 
OmVm h¡ &  

(iv) Omo gmob¡Zogr Hw$b H$m gXñ` h¡ Am¡a ñQ>mM© H$m 
òmoV h¡ &  

(v) {Og_| gmE{W`_ nwînH«$_ nm`m OmVm h¡ &  
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(I) {ZåZ{b{IV H$mo n[a^m{fV H$s{OE :   51=5 

(i) Ag§JOZZ 

(ii) Hy$Q>M{H«$H$ nwînH«$_  

(iii) {dabXméH$ H$mîR>   

(iv) V§~mHy$ H$s n{Îm`m| H$m g§gmYZ   

(v) Vob H$m emoYZ   

(J) H$m°b_ A _| {XE JE _Xm| H$m H$m°b_ B _| {XE JE 

_Xm| go {_bmZ H$s{OE : 51=5 

 H$m°b_ A  H$m°b_ B 

(i) ídgZ_yb (H$) EoñQ>oaogr  

(ii) qOOo[aZ   (I) H¡$[aHo$gr   

(iii) H¡$nrQw>b_/_w§S>H$ (J) O‹S>  

(iv) nnrVm  (K) {gÝH$moZm 

(v) ŠdrZrZ  (L>) VZm $ 

2. {ZåZ{b{IV _| go {H$Ýht VrZ  Ho$ gwZm_m§{H$V {MÌ  

~ZmBE :  3 4=12 

(H$) gmBH$g  Ho$ àdmb _yb H$s AZwàñW-H$mQ (T.S.)>  

(I) MVwîH$~rOmUwH$ namJH$moe H$s AZwàñW-H$mQ> (T.S.)> 

(J) Johÿ± Ho$ XmZo H$s AZwX¡Ü ©̀-H$mQ> (L.S.)>  

(K) Hw$H$a{~Q>m  Ho$ A§S>me` H$s AZwàñW-H$mQ (T.S.)> 

(L>) bm¢J H$s H${bH$m H$s AZwX¡Ü`©-H$mQ (L.S.)> 
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3. {ZåZ{b{IV _| go {H$Ýht VrZ  na g§{jßV {Q>ßn{U`m± 

{b{IE :  3 4=12 

(H$) H$mo[aEÝS´>_ g¡Q>mBd_  Ho$ dmZñn{VH$ JwU Am¡a Cn`moJ   

(I) ~møËdMr` D$VH$ Ho$ H$m`©  

(J) E{nEgr Hw$b H$s nhMmZ H$aZo Ho$ bjU/JwU >  

(K) B\o$S´>m  H$m Za e§Hw$ (ñQ>́mo{~bg) Am¡a Za ẁ½_H$moX²{^X²> 

(L>) dZñn{V Vobm| H$m _hÎd  

4. {ZåZ{b{IV _| go {H$Ýht VrZ Ho$ ~rM AÝVa ñnï>  

H$s{OE :  3 4=12 

(H$) H$m°\$s Ho$ nm¡Yo Am¡a _Q>a Ho$ nm¡Yo Ho$ nwînr` JwU   

(I) nmBZg  Ho$ ~m¡Zo àamoh Am¡a b§~o àamoh 

(J) EpÝO`moñnåg© Ho$ µOmBb_ (Xmé) Am¡a âbmoE_ 
(nmofdmh)   

(K) H$nmg Ho$ aoeo Am¡a OyQ> Ho$ aoeo > 

(L>) {gQ´>g Ho$ \$b Am¡a go~ Ho$ \$b 

5. (H$) {OåZmoñnåg© Ho$ gm_mÝ` bjUm|/JwUm| H$m {dñVma go 

dU©Z H$s{OE &   5 

(I) ‘‘AZoH$ nm¡Ym| Ho$ VZo {deof H$m`m] H$mo H$aZo Ho$ {bE 

ê$nm§V[aV hmo OmVo h¢ &’’ {Q>ßnUr H$s{OE &    7 
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6. (H$) {H$Ýht Xmo gpãµO`m| Ho$ d¡km{ZH$ Zm_, Hw$b Am¡a 

Cn`moJ {H$E OmZo dmbo ^mJm| Ho$ Zm_ {b{IE &  32=6 

(I) H$mJµO ~ZmZo Ho$ {bE bH$‹S>r Ho$ g§gmYZ na EH$ 

g§{jßV {Q>ßnUr {b{IE &  6 

7. (H$) _m§g^jr nm¡Yo Š`m h¢ ? {H$Ýht Xmo _m§g^jr nm¡Ym| H$m 

dU©Z H$s{OE &  1+5=6 

(I) {H$Ýht Xmo Am¡fYr` nmXnm| Ho$ d¡km{ZH$ Zm_, Hw$b Am¡a 

àmßV EoëHo$bm°BS> Ho$ Zm_ {b{IE &  32=6 

8. (H$) Johÿ± Ho$ Am{W©H$ _hÎd Am¡a BgHo$ gwYma Ho$ {bE 

AnZmE JE {d{^Þ VarH$mo§/{d{Y`m| H$s {ddoMZm 

H$s{OE &   4+2=6 

(I) dm{UpÁ`H$ Cn`moJ Ho$ {bE H$m°\$s nmCS>a àmßV H$aZo 

Ho$ {bE H$m°\$s H$s ~oar/\$b Ho$ g§gmYZ H$m {dñV¥V 

dU©Z H$s{OE &  4+1+1=6 


